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UNIVERSITY OF NORTH BENGAL /
B.A. Programme 6th Semester Examination, 2024
GE1-P2-SOCIOLOGY
POPULATION AND SOCIETY
Time Allotted: 2 Hours Full Marks: 60
The figures in the margin indicate full marks.
GROUP-A / ei-3 / wig-®
Answer any fwo questions 12x2 =24
e - 46 ez Tea wie
AT P GYFCT THET ITR ACTEN
1. Discuss the relationship between Sociology and Demography. 12
FACTSG @ TACICHR AT T2 A 33|
FHISTITRE X QiR e e T T
2. Examine critically the population theory of Malthus. 12
RPN TR YOG AN PR ANS |
AR SIS RIGIelE S HUHT Sioend |
3. Define Mortality. What are the causes of high mortality rate observed in rural 12

areas of India?

RN RS 76 | SO ANITETR T YRl e R R e
SfrepaT-oTS TR TR TIRTY FTHIOT ATEReHT Sodl oo HRVIES -5 § 2

4. Define fertility. Discuss various factors that affect fettility. 12

LG SR W1 | LTF SIS Tl SO THARITIZ ST F4 |
TS TR TR | SSTHETT-omg SRR T fafii=T PRepess Berhel T |

GROUP-B / Reti-2 / 4w

Answer any four questions from the following 6x4 =24

feffde -3 orafb et Tea we
AT P+ HIRTET FHPT SR ACGTE

= Discuss the subject matter of demography. 6
GARGITR RTE<E WG 341
SRR fANTaREmaR Bathel THE |
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Write a note on Marxist theory of population.
SR YR NI Ored @ oid Bl @1

SITHRETET HigaTe] RIGTHTTer T feugoft oreaiey |

Discuss the relation between population growth and development.

CR Y I G2 ST W RS A FA
ST I fpTerdten! Sraeea T T |

Analyse the recent trend of mortality in India.
RS T SO TR eiere! Rrsel 33
TR TGRDI ETeTeb! SR 907 ey |

Discuss the population policies adapted in India since Independence.

OIS FRITOR *7 7 (A0 JRS Gt S e 34
I Hfes HIRCAT ST TG HHTewa Bardet ek |

Discuss the changing scenario of age structure found in India.
ORSI I PSR RS Tipafsr wiiisat w21 |
IR Il FAR Fea1en) qRaciefier TRgeare) aReT wraf e |

GROUP-C / RRetsi-ot / wqg-

Define / Explain any four of the following:

e q-com s1afs Ravwm et /gt whes
TOTHT o1 FIGET ST TR AGTE N / STl TR, —

(a) Optimum population

JFIY TR

(b) Sex ratio

ot wrgeite
[GEUIG I

(¢) Infant Mortality rate

ISR PR
=

(d) Crude birth rate

L QIESAR ]
SRS S %

(¢) Family planning

IRAR AT

(f) Population explosion.
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